

# Study Material

B Sc General  
PHYSICS  
Semester-IV

DSC-1D

Duration- 1 hr

Date: 06/04/2020

Time- 8AM-9AM

Topic: Fourier's theorem

\* Ex-1 Fourier series of function  $f(x) = x^2$  in interval  $0 \leq x \leq 2\pi$

$\Rightarrow$  Fourier series of function  $f(x)$  is given by

$$f(x) = a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$$

$$\begin{aligned} \text{Here } a_0 &= \frac{1}{2\pi} \int_0^{2\pi} f(x) dx \\ &= \frac{1}{2\pi} \int_0^{2\pi} x^2 dx = \frac{1}{2\pi} \left[ \frac{x^3}{3} \right]_0^{2\pi} \\ &= \frac{4\pi^2}{3} \end{aligned}$$

$$\begin{aligned} a_n &= \frac{1}{\pi} \int_0^{2\pi} f(x) \cos nx dx \\ &= \frac{1}{\pi} \int_0^{2\pi} x^2 \cos nx dx \\ &= \frac{1}{\pi} \left[ x^2 \frac{\sin nx}{n} \Big|_0^{2\pi} - \frac{2}{n} \int_0^{2\pi} x \sin nx dx \right] \\ &= -\frac{2}{\pi n} \left[ -\frac{x \cos nx}{n} + \frac{\sin nx}{n^2} \right]_0^{2\pi} \\ &= \frac{2}{\pi n^2} [2\pi] = \frac{4}{n^2} \end{aligned}$$

$$\begin{aligned} b_n &= \frac{1}{\pi} \int_0^{2\pi} x^2 \sin nx dx \\ &= \frac{1}{\pi} \int_0^{2\pi} x^2 \sin nx dx \\ &= \frac{1}{\pi} \left[ -\frac{x^2 \cos nx}{n} \Big|_0^{2\pi} + \frac{2}{n} \int_0^{2\pi} x \cos nx dx \right] \\ &= \frac{1}{\pi} \left[ -\frac{4\pi^2}{n} \cos 2n\pi + \frac{2}{n} \left\{ \frac{x \sin nx}{n} + \frac{\cos nx}{n^2} \right\} \Big|_0^{2\pi} \right] \\ &= \frac{1}{\pi} \left[ -\frac{4\pi^2}{n} + \frac{2}{n} (0) + \frac{2}{n^3} (\cos 2n\pi - 1) \right] \\ &= -\frac{4\pi}{n} \end{aligned}$$

දැන:  $x$  වලින් (2) වන  $f(x)$  සඳහා  $x = \pi$  වන විට

$$f(x) = \frac{4x^2}{3} + 4 \sum_{n=1}^{\infty} \frac{\cos nx}{n^2} - 4\pi \sum_{n=1}^{\infty} \frac{\sin nx}{n} \quad \text{--- (1)}$$

උදාහරණ I: (1) ඊට  $x = \pi$  වන විට  $f(x)$  සඳහා  $x = \pi$  වන විට

$$\pi^2 = \frac{4\pi^2}{3} + 4 \left( -\frac{1}{1^2} + \frac{1}{2^2} - \frac{1}{3^2} + \frac{1}{4^2} - \dots \right) \quad \text{--- (1)}$$

$$\left( \text{මෙහි } f(x) = x^2 \text{ වන විට } f(\pi) = \pi^2 \right)$$

$$\therefore \pi^2 - \frac{4\pi^2}{3} = 4 \left( -\frac{1}{1^2} + \frac{1}{2^2} - \frac{1}{3^2} + \frac{1}{4^2} - \dots \right)$$

$$\therefore -\frac{\pi^2}{3} = 4 \left( -\frac{1}{1^2} + \frac{1}{2^2} - \frac{1}{3^2} + \frac{1}{4^2} - \dots \right)$$

$$\therefore \frac{\pi^2}{12} = \left( \frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} - \frac{1}{4^2} + \dots \right) \quad \text{--- (2)}$$

උදාහරණ II: (1) ඊට  $x = \pi/2$  වන විට  $f(x)$  සඳහා  $x = \pi/2$  වන විට

$$\left( \frac{\pi}{2} \right)^2 = \frac{4\pi^2}{3} + 0 - 4\pi \left( \frac{1}{1} - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \dots \right)$$

$$\therefore \frac{\pi}{4} = \frac{4\pi}{3} - 4 \left( 1 - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \dots \right)$$

$$\therefore 4 \left( 1 - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \dots \right) = \pi \left( \frac{4}{3} - \frac{1}{4} \right)$$

$$\therefore 1 - \frac{1}{3} + \frac{1}{5} - \frac{1}{7} + \dots = \frac{13}{48} \pi \quad \text{--- (3)}$$